& doubtnut

India's Number 1 Education App

MATHS

BOOKS - UNITED BOOK HOUSE

Quadratic Surds

1.Ifa+b=+/5and a-b =+/3, then the value of

a® + b is

A5


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RmCcf4n9GC7E

B.4

C.3

D. 2

Answer:

° Watch Video Solution

2. The simple value of /108 — /75 is

A /3
B.3,/3

C. /33


https://dl.doubtnut.com/l/_RmCcf4n9GC7E
https://dl.doubtnut.com/l/_wloHf3LBq1EA

D. none of these.

Answer:

° Watch Video Solution

3.If m = sqrtfrac(n)(n+1/2)'and m =1/2,then n =

A3

B.1/3

C.6

D.1/6


https://dl.doubtnut.com/l/_wloHf3LBq1EA
https://dl.doubtnut.com/l/_rG4fnMf0pJhM

Answer:

° Watch Video Solution

4.1f (5+ 4/5) (5 — 4/5) = 25 — z?, then the value

of xis

B.5
C.+.5

D. none of these.

Answer:



https://dl.doubtnut.com/l/_rG4fnMf0pJhM
https://dl.doubtnut.com/l/_8TlOpQ1KZ0xC

‘ ° Watch Video Solution

5.1f /5 + 4/3=a,then \/5 — /3=

A.-a
B.1/a
C.2/a

D. none of these.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8TlOpQ1KZ0xC
https://dl.doubtnut.com/l/_p4lleu6rw8Hw
https://dl.doubtnut.com/l/_ODSudhVHQpmr

6.If x + 1/x = /3 then the value of z° is

B.O
C.1

D. none of these.

Answer:

° Watch Video Solution

7. Which one of ¥/2, {/3, ¢/5 and /26 is greatest?

A. /2


https://dl.doubtnut.com/l/_ODSudhVHQpmr
https://dl.doubtnut.com/l/_2NW0x2VNl3xZ

B. /3
C. /b

D. /26

Answer:

° Watch Video Solution

8.If27°=h—|—\/52-|—r2,then r:h=(r #0)

A.2:4/3
B.3:4

C.4:3


https://dl.doubtnut.com/l/_2NW0x2VNl3xZ
https://dl.doubtnut.com/l/_tmKjv4QTURCz

D. \/§ 2.

Answer:

° Watch Video Solution

4 2
.2 +y= 7 and x — y = —, then the value
3 3

of 4xy is

A 4
B.3
C.2

D. 1


https://dl.doubtnut.com/l/_tmKjv4QTURCz
https://dl.doubtnut.com/l/_ifn02hk9vXNz

Answer:

° Watch Video Solution

10.If z + y: /2y = 4:1,then the ratiox:y =

A(2+3): (2= )
B.(2—/3):(2+3)
C./3:1

D. (2 + v3): (2 — v/B).

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ifn02hk9vXNz
https://dl.doubtnut.com/l/_50PUpmPo9SrL

11. Which of the numbers below is a surd?

A. /625
B. /216
C. /216

D. /125

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_50PUpmPo9SrL
https://dl.doubtnut.com/l/_woq3jWBn86CX

12. 1/507 in simplest from is equal to___

A. 25./7
B.124/7
C.13/7

D.13,/3

Answer:

° Watch Video Solution

13.124/48 + /343 — 34/112 — 44/75is equal to___


https://dl.doubtnut.com/l/_DL8yjPrPoAAU
https://dl.doubtnut.com/l/_Q2GLr0bcO0Hy

A.28,/3 — 5/7
B. 56

C. 7sqrt3

D.7/3 — /T

Answer:

° Watch Video Solution

14.2,/10 x /3 x 24/2is equalto___

A. /240

B.8,/15


https://dl.doubtnut.com/l/_Q2GLr0bcO0Hy
https://dl.doubtnut.com/l/_B8OUN3pEpaus

C.16,/15

D.4,/15

Answer:

° Watch Video Solution

1
15. Rationalize denominator
1—+2+4/3
V2 — /6 -2
A.
4
V2 + /6 — 2
B.
4
2+ /6 — /2
C. 1

D. N.O.T.


https://dl.doubtnut.com/l/_B8OUN3pEpaus
https://dl.doubtnut.com/l/_6Zi3aeX9cW6l

Answer:

° Watch Video Solution

16. a and b are rational and
V48 — /75 + /16 = a + b,/3, then a, b are equal

to

A.a=4,b=-1
B.a=-4,b=1
C.a=4,b=1

D.a=-4,b =-1


https://dl.doubtnut.com/l/_6Zi3aeX9cW6l
https://dl.doubtnut.com/l/_Du6TNpc4nIQo

Answer:

° Watch Video Solution

17. Find square root
r+y+z+2,/yz+ 2 /zx + 2,/zy
A + <\/5 + Y+ z)

B.:I:(\/§+\/5+z)
C.+(y/z+ /T +y)
D.:I:<\/5—I—\/§-|— ﬁ)

Answer:

of



https://dl.doubtnut.com/l/_Du6TNpc4nIQo
https://dl.doubtnut.com/l/_tKP3zpUcxAzf

‘ ° Watch Video Solution

18. Find the value of (w3 — 7x% + 13z + 17) when
T=2+,3

A. 20

B.17

C.0

D. none of these.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_tKP3zpUcxAzf
https://dl.doubtnut.com/l/_fq8TOgAlrcbn

19.Given £ = 1 + /2 + \/3, then find the value of
(22* — 82° — 5z” + 26z — 28)

A.O

B.2,/6

C.-6sqrt6

D. ‘6sqrt6

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0LnSBmf5yYYP

20. Solve for X, when

222 + 9+ /222 — 9 =9+ 37

A.6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_F6oH9L8Fn9ie

to

D. cannot be determined

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ecDK2rDQIfJY

22. The

V2+4V24+V2+F e

A 2,-1

B. only -1

C.only 2

D. cannot be determined

Answer:

value

x Is equal to

of

° Watch Video Solution



https://dl.doubtnut.com/l/_5A7uUivIHYSr

23. Simplified value of
vV =3+ /3 +8VT+43is___

A.O

B. 1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_QgzeUJVjYogE

V3+1 V3 -1

24. 1 —=

z? + zy + Y2

is equal to :
z2 — zy + 12 a

A.15/13

B. 13/15

C.1

D. None of these

Answer:

y .
V3—1 V3+1

Then

o Watch Video Solution



https://dl.doubtnut.com/l/_n3iE2HRAsWhg

25. The square root of (33 — 4,/35) is__

A £ (V7 — 24/5)
B.+(2v/7 + /b)
C.+(2v7 — /5)

D. none of these.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_epUboMuARUtz

26. The square root
5+ 46— 410 — /15is__

A.i%(\ﬁ—l— V5 )

1 _ _

B.:I:E(\/3—|— V2 — 4/5)

.t (VZ+5— )

V2

D. N.O.T.

Answer:

of

root

of

° Watch Video Solution



https://dl.doubtnut.com/l/_MRlQIaSx0sYC

27. If
z(3v/5 + 2v/2) — /2(y/10 — 1)y = 4/10(2v/2 + /5)
then rational values of x and y are respectively

A 1,2

B.1,1

C.2,1

D. 2,2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1zp9TrNhB0c0
https://dl.doubtnut.com/l/_VVL43RSsAavO

28. When T = the value of

B.2

C.3

D.4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_VVL43RSsAavO

37 5v/5 24/2

29.

iva VR Vit vE

equals

A 2./5

B.2y/7

C.2¢/2

D.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_aaG7nuRUDH5a

30. The simplified value of

()
va+r—ya+z Ja+Jrx+Ja+z

IS

A /a
B. /T
C.\a+zx

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Gr6cghP3iVhQ

